28% 7 4

f(x)=

(A)lim f (x) (B) f(x) x=0 (C) f'(0)=1 (D) f'(0)

x+1, x<0
x-1, x>0

aC+bx®+2

. y=x-3x*-9x+1
(A) 1-100 (B) (0) (©) (-16) (D) (-3-26)

. % J-_lxx/l—tsdt= A) 1=  (B) -1+ (C) VI-X¥ (D) ¥1+%

- [[xinxdx= " (A) 3¢ @ les
] 4 4 4

© Lfe-_lesl (o) leile l
2% 72 2

L
4 2 27 2

. IOZ«/4—x2dx= (A) % B) 7 (O 37” (D) 27

(A) Iirrg[x]:o [ (B) Iing\x—z\
| 2
(©) ljim YOX =3x _ 3 (D) Iimx(4—1):0
x>0 AX+1 4 x50 X
30% 6 5




Z_4xy+3y*=0 y X (1,2)
. (1 1
I|m(——X j: (D)
x>0\ X e -1
z=In(x*+y?) x=2e2 y=t3+1 t=0
+/35.8 A (
42% 5
f(x)=—" £9(x) (8%)
X+1
2
J'?’X_—X:5dx (8%)
(x+1)
y =X y=-X+6 X
p jjx—lpdx (9%)
R y=X y=2x y=2
< 2 2 >

(8%)

I} e’y?sz (9%)



